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1. The origin of strategic studies can

be traced to :

(A) Edward Meade Earle’s seminar

on grand strategy and conduct

of war

(B) Hans Morgentheau’s work on

‘Politics Among Nations : The

Struggle for Power and Peace’

(C) E.H. Carr’s ‘Twenty Years

Crisis’ that presents a critique

of liberalism

(D) Thucydides’ writings on the

Peloponnesian war

1. lkefjdðkkL=kP;k vH;klkph lqjokr bFks >kyh

vls ekurkr %

(A) ,MoMZ ehM vyZ ;kaP;k j.kuhfr o ;qº

fu;kstukoj ?ksrysY;k fopkj xks"VhaP;k uarj

(B) gkUl ekWjxWUFkkW ;kaP;k ‘Politics Among

Nations : The Struggle for

Power and Peace’ gÓk xzaFkkuarj

(C) b-,p- dkj ;kaP;k ‘Twenty Years

Crisis’  ;k mnkjeroknkojhy VhdkRed

foospukuarj

(D) F;wlhMhMhl ;kaP;k fiyksiksusfl;u ;qºkP;k

foospukuarj

DEFENCE AND STRATEGIC STUDIES
Paper II

laj{k.k vkf.k lkefjd'kkL=
iz'uif=dk II

Time Allowed : 75 Minutes] [Maximum Marks : 100

Note : This paper contains Fifty (50) multiple choice questions, each question

carrying Two (2) marks. Attempt All questions.

lwpuk % ;k izðuif=dsr ,dw.k iÈkkl (50) cgqi;kZ;h izðu fn«s«s vkgsr- izR;sd izðuk«k nksu (2)
xq.k vkgsr- loZ izðu lksMok-
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2. The features of a nation are :

(i) A sense of oneness that is born

out of commoness of culture,

ethnicity etc.

(ii) People who identify socially,

culturally to establish a

separate identity for themselves

(iii) A distinct territory and a

sovereign government

The correct answer is :

(A) only (i) is correct

(B) only (i) and (ii) are correct

(C) only (i) and (iii) are correct

(D) all are correct

3. Olof Palme’s argument that states

can no longer seek security at each

others’ expense is understood as the

concept of :

(A) National security

(B) Human security

(C) Common security

(D) Collective security

2. jk"V™kps gs ?kVd vlrkr %

(i) leku laLœrh] okafðkdrk bR;knhrwu ;s.kkjh

,sD;kph Hkkouk

(ii) lkekftd] lkaLœfrd ikrˇhoj tsOgk

yksd ,d=&;srkr o Lor%ps lkeqfgd

O;fDreRo r;kj djrkr

(iii) ,d fufðpr  Hkwiznsðk  o  lkoZHkkSe

ljdkj

cjkscj mŸkj vkgs %

(A) dso  ̌ (i) cjkscj vkgs

(B) dsoˇ (i) and (ii) cjkscj vkgsr

(C) dsoˇ (i) and (iii) cjkscj vkgsr

(D) loZ cjkscj vkgsr

3. vkWYQ ikye ;kaps ts Eg.k.ks vkgs dh dks.krsgh

jk"V™ vkiY;k lqjf{krrslkBh nqlÚ;k jk"V™kP;k

lqjf{krrsyk /kksdk ikspow ðkdr ukgh gÓk dMs

vðkk iºrhus cf/krys xsys vkgs %

(A) jk"V™h; lqj{kk

(B) ekuoh lqj{kk

(C) leku lqj{kk

(D) lkeqfgd lqj{kk
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4. Balance of power as a security

strategy is based on the following

approach :

(A) Liberal

(B) Realist

(C) Behavioural

(D) Marxist

5. Who set out to make geopolitics a

legitimate area of academic

inquiry ?

(A) Mahan

(B) MacKinder

(C) Haushofer

(D) Machiavelli

6. Soviets generally used this phrase

to convey the meaning of

detente :

(A) Imperialism

(B) Peaceful coexistence

(C) Perestroika

(D) Massive retaliation

4. lqj{kk fuekZ.k dj.kkjh j.kfurh Eg.kwu lŸkk

larqyuk pk fopkj ·k lSºkafrd pkSdVhr dsyk

tkrks %

(A) mnkjeroknh

(B) okLrooknh

(C) orZuoknh

(D) ekDlZoknh

5. Hkwjktuhfr yk ,d ekU;rkizkIr vH;klkpk

fo"k; Eg.kwu iq<s vk.k.;kps dk;Z ;kauh

dsys %

(A) egku

(B) eWfdaMj

(C) gkmðkksQj

(D) eWfd,fOgyh

6. nsrkarpk vFkZ lkaxrkuk lksfOg,r jfðk;k

lk/kkj.kr% gÓk ðkCniz;ksxkpk okij djrs %

(A) lkezkT;okn

(B) ðkkarrke; lgthou

(C) isjsLV™kWbdk

(D) tcjnLr izR;k?kkr
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7. Alfred Mahan’s central theme

was :

(A) strategy was the key to warfare

(B) that economic, social and

political change affects tactics

and strategy

(C) the study of United States’ rise

as a great power

(D) maritime predominance of

Great Britain

8. The first writer to incorporate

Napoleonic warfare into what

became an important work on

strategy was :

(A) Machiavelli

(B) Clausewitz

(C) Jomini

(D) Liddell Hart

7. vY›sM egku ;kapk eq[; flºkar gk

gksrk %

(A) j.kfurh gh ;qºkaph fdYyh vkgs

(B) vkfFkZd]  lkekftd  o  jktdh;

cnykapk j.kuhfr o ;qºuhfroj ifj.kke

gksrks

(C) vesfjdspk cMs jk"V™ Eg.kwu mn;

(D) xz sV  fczVupk  lkxjh  {k s=krhy

izHkko

8. usiksfy;uP;k dkˇkarhy ;qºkpk vH;kl d:u

lkefjd ðkkL=kr ,d egRokps ;ksxnku dj.kkjk

fopkjoar gk gksrk %

(A) eWfd,foyh

(B) dykW>foVl~

(C) ;ksesuh

(D) fyMsy gkVZ
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9. Indian ‘Cold Start’ doctrine is aimed

at :

(A) Corps mobilisation of troops

(B) Fast mobilization of troops

(C) Normal mobilization of troops

(D) No mobilization of troops

10. Wars that seek to capture political

power through armed struggle are

described as :

(A) Terrorism

(B) Insurgency

(C) Civil war

(D) Revolutionary war

11. As an arms control agreement

START seeks to :

(A) implement the INF agreement

(B) go further from SALT I and II

(C) remove the difficulties in

implementing the NPT

(D) Implement the Outerspace

Treaty

9. Hkkjrkph ‘Cold Start’ j.kuhfr gÓk lanHkkZr

vkgs %

(A) y"djh iyVu rSukr dj.ks

(B) y"djkyk osxkus y<kbZlkBh r;kj dj.ks

(C) y"djkyk usgeh izek.ks y<+kbZlkBh r;kj

dj.ks

(D) y"djkyk y<kbZlkBh rSukr u dj.ks

10. y"djh la?k"kkZP;k ekxkZus jktdh; lŸkk dkcht

dj.kkjh ;qº iºrh gh vlrs %

(A) ngðkrokn

(B) foIyo

(C) ukxjh ;qº

(D) ÿkafrdkjh ;qº

11. ðkL= fu;a=.k le>ksrk Eg.kwu START pk

gsrq gk gksrk %

(A) INF djkjkph vaeyctko.kh dj.ks

(B) SALT I o II P;k iq<s tk.ks

(C) NPT P;k vaeyctko.khrhy vMp.kh

nwj dj.ks

(D) Outer space Treaty ph vaeyctko.kh

dj.ks
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12. The concept of strategic partnership

between India and Russia was

introduced by :

(A) Putin

(B) Yelstin

(C) Gorbachev

(D) Brezhnev

13. Globalisation seems to have

undermined democracy in two

ways :

(i) Concentrated economic power

and therefore political power in

the hands of multinational

corporations

(ii) Pace of economic globalisation

far outstrips the pace of political

globalisation

(iii) Free flow of finance capital

(iv) The rich have become richer but

the poor have also become less

poor

The correct answer is :

(A) only (i) and (ii) are correct

(B) only (i) and (iii) are correct

(C) only (ii) and (iii) are correct

(D) only (iii) and (iv) are correct

12. Hkkjr o jfðk;k njE;kuph ^^lkefjd Hkkfxnkjh**

ph ladYiuk ;kauh ekaMyh %

(A) iqfru

(B) ;syfLVu

(C) xksckZpsOg

(D) czs>usOg

13. tkxfrdhdj.kkus yksdðkkghps nksu izdkjs

[kPphdj.k dsys vlkos %

(i) vkfFkZd lŸkk vkf.k Eg.kwu jktdh; lŸksps

cgqjk"V™h; daiU;kaP;k gkrkr ,d=hdj.k

dsys

(ii) vkfFk Zd tkxfrdhdj.kkpk osx gk

jktdh; tkxfrdhdj.kkP;k cjkp iq<s

tkrks

(iii) vkfFkZd HkkaMoyhpk eqDri.ks lapkj

gksrks

(iv) Jhear vf/kd Jhear >kys vkgsr]

i.k xjhc i.k deh xjhc >kys

vkgsr

cjkscj mŸkj vkgs %

(A) dsoˇ (i) o (ii) cjkscj vkgsr

(B) dsoˇ (i) o (iii) cjkscj vkgsr

(C) dsoˇ (ii) o (iii) cjkscj vkgsr

(D) dsoˇ (iii) o (iv) cjkscj vkgsr
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14. The US concept of Global War on

Terror seeks to target :

(i) new threats posed by non-state

actors and terrorist groups

(ii) so called ‘rogue’ states

(iii) militant theories of radicalised

Islam

The correct answer is :

(A) only (i) is correct

(B) only (i) and (iii) are correct

(C) only (i) and (ii) are correct

(D) All three are correct

15. Samuel Huntington’s ‘‘Clash of

Civilizations’’ argued that the

principal patterns of conflict and

cooperation in the world were shaped

by :

(A) Nationalism

(B) Culture

(C) Nation states

(D) Political leadership

14. vesfjdsP;k ngðkroknk fo#º iqdkjysY;k

tkxfrd  ikrˇhojhy  ;qº  jks[k  gk

vkgs %

(i) vjk"V™h; ?kVd o ngðkroknh ?kVdkauh

lqjf{krrsyk fuekZ.k dsysys uohu /kksds

(ii) rFkkdfFkr naxyckt jk"V™

(iii) tgky bLykeps vkÿed flºkar

cjkscj mŸkj vkgs %

(A) dsoˇ (i) cjkscj vkgs

(B) dsoˇ (i) o (iii) cjkscj vkgsr

(C) dsoˇ (i) o (ii) cjkscj vkgsr

(D) ojhy loZ rhu cjkscj vkgsr

15. lWE;q,y gafVaxVu ;kaP;k ^^lkaLœrh njE;kupk

y<k* gÓk flºkarkar vls lkaxys gksrs dh txkrhy

la?k"kZ vkf.k lgdk;kZP;k izeq[k >xMÓkps ewˇ

gÓkr vkgs %

(A) jk"V™okn

(B) lkaLœrh

(C) jk"V™ jkT;

(D) jktdh; usr`Ro
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16. The MTCR aims are placing

restrictions on the export of :

(A) Civilian nuclear technology

(B) Missile systems

(C) Radar equipment

(D) Dual use technologies

17. Read the following statements about

CTBT :

(i) Nehru proposed the treaty in

1954

(ii) UN General Assembly adopted

the text in 1996

(iii) The treaty covers nuclear

explosions in all environments

(iv) Underground explosions are not

covered by the CTBT

The correct answer is :

(A) Only (i), (ii) and (iii) are correct

(B) Only (i), (ii) and (iv) are correct

(C) Only (ii) and (iii) are correct

(D) all the four are correct

16. MTCR us gÓk ?kVdkaP;k fu;kZrhoj ca/kus

?kkryh vkgsr %

(A) ukxjh vkf.od ra=Kku

(B) {ksi.kkL=s

(C) jMkj lkeqxzh

(D) f}&mi;ksxh ra=Kku

17. CTBT lanHkkZr [kkyhy fo/kkus okpk %

(i) usg:auh 1954 e/;s gk izLrko ekaMyk

gksrk

(ii) la;qDr jk"V™kaP;k vke lHksus gÓkpk elqnk

1996 e/;s ekU; dsyk

(iii) gÓk djkjkus loZ izdkjP;k vkf.od

pkp.;kaoj canh ?kkryh vkgs

(iv) CTBT us tfeuh [kkyh dsysY;k

pkp.;kaoj canh ?kkryh ukgh

cjkscj mŸkj vkgs %

(A) dsoˇ (i), (ii) o (iii) cjkscj vkgsr

(B) dsoˇ (i), (ii) o (iv) cjkscj vkgsr

(C) dsoˇ (ii) o (iii) cjkscj vkgsr

(D) loZ pkj cjkscj vkgsr
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18. The ‘‘Domino Theory’’ became the

rationale for the :

(A) Vietnam war

(B) Korean war

(C) Arab-Israel war

(D) Suez Crisis

19. The disintegration of Soviet Union

can be understood in the context

of :

(A) Failure of socialism

(B) Ethnic nationalism based right

to self-determination

(C) Growing awareness about

Human Rights

(D) Success of US and NATO

strategies

18. ^^MkWfeuks** flºkar gÓk ;qºkP;k lanHkkZr ekaMyk

xsyk %

(A) fOg,Vuke ;qº

(B) dksjh;u ;qº

(C) vjc&bÚk;y ;qº

(D) lq,> ph leL;k

19. lksfOg,r jfðk;k ps fo?kVu gÓk lanHkkZr letwu

?ksrk ;srs %

(A) lkE;oknkpk ijkHko

(B) okafðkd   jk"V™oknkoj   vk/kkfjr

Lo;afu.kZ;kpk gDd

(C) ekuoh gDdkackcr ok<rh tkx#drk

(D) vesfjdk o NATO P;k j.kuhfrps

;ðk
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20. dkslksOgks gk iwohZP;k ;qxksLykfOg;kP;k gÓk

izkarkapk Hkkx gksrk %

(A) Lyksosfu;k

(B) ckWfLu;k&gsj>~xksfOguk

(C) lfcZ;k

(D) ekWUVsuhxzks

21. HkkjrkP;k vkf.od /kksj.kkph gh izeq[k rRos

vkgsr %

(i) izFke gYyk u dj.;kps /kksj.k

(ii) foðoklkgÓZ U;qure vkf.od izjks/ku

(iii) tkxfrd vkf.od fu%ðkL=hdj.kkyk

ikfBack

cjkscj mŸkj vkgs %

(A) dsoˇ (ii) cjkscj vkgs

(B) dsoˇ (i) o (ii) cjkscj vkgsr

(C) dsoˇ (ii) o (iii) cjkscj vkgsr

(D) loZ rhu cjkscj vkgsr

20. Kosovo was a province of the

following region of the former

Yugoslavia :

(A) Slovenia

(B) Bosnia-Herzegovina

(C) Serbia

(D) Montenegro

21. The key features of the Indian

nuclear doctrine include :

(i) No first use policy

(ii) Credible minimal nuclear

deterrence

(iii) Support for global nuclear

disarmament

The correct answer is :

(A) only (ii) is correct

(B) only (i) and (ii) are correct

(C) only (ii) and (iii) are correct

(D) all three are correct
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22. The Chechens are an ethnic

minority living in the region

of :

(A) Alps

(B) Kalahari

(C) Hainan

(D) North Caucasus

23. Brundtland Report is concerned

with :

(A) Peacekeeping

(B) International terrorism

(C) Sustainable development

(D) Free trade

24. Aksai Chin is a part of :

(A) Ladakh

(B) Tibet

(C) POK

(D) Sinkiang

22. pspsu gk ,d vYila[; okafðkd xV vkgs tks

gÓk izkarkr jgkrks %

(A) vkYil~

(B) dkykgkjh

(C) gk;uku

(D) mŸkj dkWdsðk;l

23. czaVyWUM fjiksVZ gÓk lanHkkZr vkgs %

(A) ðkkarrk jk[k.ks

(B) vkarjjk"V™h; ngðkrokn

(C) fVdk≈ fodkl

(D) eqDr O;kikj

24. vdlkbZ phu gÓk {ks=kr ;srs %

(A) yMk[k

(B) fVcsV

(C) ikd O;kIr dkðehj

(D) flafd,ax
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25. Container security initiative relates

to :

(A) anti-piracy activity

(B) anti-terrorism activity

(C) anti-submarine activities

(D) humanitarian assistance

26. Which country exercises the

sovereign control over Suez

canal ?

(A) Israel

(B) Saudi-Arabia

(C) Great Britain

(D) Egypt

27. In which country of Central Asia

India claims to have an Air

Base ?

(A) Kazakhstan

(B) Kirgistan

(C) Uzbekistan

(D) Tajikistan

25. ‘Container Security Initiative’ gÓk

ckcr vkgs %

(A) leqÊh pkpsfxjh fo#º

(B) ngðkroknk fo#º

(C) ik.kcqMÓk fo#º dkjokbZ

(D) ekuoh dkj.kkalkBh enr ns.;kckcr

26. lq,> dkyO;koj [kkyhy jk"V™kP;k lkoZHkkSe

vf/kdkj vkgs %

(A) bÚkby

(B) lkSnh&vjsfc;k

(C) xzsV fczVu

(D) bftIr

27. e/; vkfðk;krhy gÓk nsðkkr vkiyk gokbZ rˇ

vkgs vls Hkkjrkus lkafxrys vkgs %

(A) d>k[kLrku

(B) fdjfxLrku

(C) m>csfdLrku

(D) rkftfdLrku
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28. The primary passage through the

Andaman and Nicobar Islands to

the strait of Malacca is through :

(A) The Six Degree Channel

(B) Malacca strait

(C) Strait of Hormuz

(D) The Cape of Good Hope

29. The UN agency which looks after the

problem of refugees :

(A) UNICEF

(B) WHO

(C) UNHCR

(D) UNESCO

30. Teeth and Tail Ratio in logistic

management means :

(A) Ratio between men and food

(B) Ratio between weapons and

men and material

(C) Ratio between soldiers and

officers

(D) Ratio between food and

weapons

28. vaneku fudksckj }hilewgkrwu eykDdkP;k

lkeqÊ/kquh dMs tk.;kpk eq[; ekxZ bFkwu

tkrks %

(A) lgk vaðkkph [kkMh

(B) eykDdkph lkeqÊ/kquh

(C) gksjew>ph lkeqÊ/kquh

(D) n dsi vkWQ xqM gksi

29. fuokZflrkaP;k leL;kadMs c?k.kkjh la;qDr jk"V™kaph

,talh gh vkgs %

(A) UNICEF

(B) WHO

(C) UNHCR

(D) UNESCO

30. lsok iqjoBk ;kstusr ‘‘Teeth and Tail

Ratio’’ Eg.kts %

(A) lSU;  o  vUu  ;kaP;k  njE;kups

izek.k

(B) ðkL=] lSU; o lkeqxzh ;kaP;k njE;kups

izek.k

(C) toku o vf/kdkjh ;kaP;k njE;kups

izek.k

(D) vUu  o  ðkL= gÓk  njE;kups

izek.k
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31. The UN General Assembly is an

example of :

(A) Quiet Diplomacy

(B) Public Diplomacy

(C) Parliamentary Diplomacy

(D) Coercive Diplomacy

32. Colonialism was a product of :

(A) Rivalry amongst European

states

(B) White man’s burden

(C) Search for raw materials

(D) Slave trade

33. ‘Dharma Yuddha’ is an example

of :

(A) Total war

(B) Just war

(C) War against International

Anarchy

(D) Religious war

31. la;qDr jk"V™kaph vke lHkk gÓkps mnkgj.k

vkgs %

(A) xqipqi dsysyk jktu;

(B) lkoZtfud jktu;

(C) lalnh; jktu;

(D) tcjnLrhpk jktu;

32. lkezkT;okn gk gÓkrwu fuekZ.k >kyk %

(A) ;qjksih;  jk"V™kanjE;kupk  vkilkrhy

>xMk

(B) xksÚ;k ek.klkaps vks>s

(C) dP;k eky ðkks/k.;klkBh

(D) xqykekapk O;kikj

33. ^/keZ;qº* gÓkps mnkgj.k vkgs %

(A) laiw.kZ ;qº

(B) uSfrd ;qº

(C) vkarjjk"V™h; vjktdrs fo#º ;qº

(D) /kkfeZd ;qº

http://www.studentbounty.com/
http://studentbounty.com/


15 [P.T.O.

AUG-16211/II

34. Conflict resolution :

(A) Reduces the dangers of crises

(B) Reduces conflict but does not

eliminate it

(C) Tackles basic issues of conflict

(D) Changes world views of states

35. Conflict management implies :

(A) tackling basic issues of conflict

(B) reducing dangers of crises

(C) threat of use of force

(D) Change world views of states

involved

36. The significance of showing a white

flag in war :

(A) is cessasion of hostility

(B) is seeking medical relief

(C) is peaceful protest

(D) begins a conflict

34.  la?k"kZ fujlu gs djrs %

(A) la?k"kkZps /kksds deh dj.ks

(B) la?k"kZ deh dj.ks ijarq laiw.kZi.ks laio.ks

ukgh

(C) la?k"kkZph ewy dkj.ks gkrkˇ.ks

(D) jk"V™kaps tkxfrd n`"Vhdksu cny.ks

35. la?k"kZ O;oLFkkiu Eg.kts %

(A) la?k"kkZph ewy dkj.ks gkrkˇ.ks

(B) la?k"kkZps /kksds deh dj.ks

(C) cˇkapk okij dj.;kckcr /kedh

ns.ks

(D) th jk"V™ gÓkr vkgsr R;kaps tkxfrd

n`"Vhdksu cny.ks

36. ;qºkr ika<jk >saMk nk[kfo.ks Eg.kts %

(A) ;qº Fkkacfo.ks

(B) oS|dh; lgk∏; feˇfo.ks

(C) ðkkarrke; fojks/k

(D) la?k"kZ lq# dj.ks
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37. Confidence building exercises are

not promoted by the following :

(A) Information exchange

(B) Third party mediation

(C) Arms race

(D) Appointing observers on the

borders

38. Pugwash conference deals with :

(A) Agricultural revolution

(B) Refugee relief

(C) Sustainable development

(D) Nuclear free world

39. The concept of collective security is

based on this approach to

International relations :

(A) Realist

(B) Idealist

(C) Behavioural

(D) Systems

37. foðoklo/kZd mik;;kstuk gÓkrwu iq<s ;s≈ ðkdr

ukghr %

(A) ekfgrhps vknku iznku

(B) frlÚ;k i{kkrQsZ e/;LFkh

(C) ðkL= Li/kkZ

(D) lhesoj fufj{kdkaph use.kqd

38. ixokWðk ifj"kn gÓk ckcr vkgsr %

(A) ðksrhfo"k;d ÿkarh

(B) fuokZflrkauk lgk∏;

(C) fVdk≈ fodkl

(D) vkf.od ðkL= fojfgr tx

39. lkeqfgd lqj{kk gh ladYiuk gÓk fopkj/kkjsoj

vk/kkfjr vkgs %

(A) okLrooknh

(B) vknðkZoknh

(C) orZuoknh

(D) O;oLFkk
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40. Match the following and choose the

correct answer from the codes given

below :

(a) Morton Kaplan (1) International

Political Economy

(b) Oskar Morgenstein (2) Realism

(c) Immanuel (3) Games Theory

Wallerstein

(d) E.H. Carr (4) Systems theory

(5) International society

Codes :

(A) (a)-(4), (b)-(1), (c)-(2), (d)-(3)

(B) (a)-(5), (b)-(1), (c)-(3), (d)-(2)

(C) (a)-(3), (b)-(1), (c)-(4), (d)-(2)

(D) (a)-(4), (b)-(3), (c)-(1), (d)-(2)

41. The period 1871-1916 saw the

development of new sources of power

and new materials that had an

impact on war. These development

include :

(i) Edison’s first commercial

generator

(ii) Internal combustion engine

(iii) Steel alloys

(iv) The Morse code

The correct answer is :

(A) Only (i), (ii) are correct

(B) Only (i), (ii) and (iii) are correct

(C) Only (ii), (iii) and (iv) are correct

(D) All four are correct

40. tksMÓk ykok vkf.k [kkyh fnysY;k dksMkr

cjkscj mŸkj fuoMk %

(a) ekWVZu dkiyku (1) vkarjjk"V™h; jktdh;

vFkZdkj.k

(c) vkWLdj ekWjxWUlVhu (2) okLrookn

(c) beWU;q,y (3) [ksˇh flºkar

okWyjLVhu

(d) b- ,p- dkj (4) O;oLFkk flºkar

(5) vkarjjk"V™h; lekt

dksM %

(A) (a)-(4), (b)-(1), (c)-(2), (d)-(3)

(B) (a)-(5), (b)-(1), (c)-(3), (d)-(2)

(C) (a)-(3), (b)-(1), (c)-(4), (d)-(2)

(D) (a)-(4), (b)-(3), (c)-(1), (d)-(2)

41. 1871 rs 1916 njE;ku mtsZph uohu lk/kus

iq<s vkyh rlsp uohu lk/ku lkexzh iq<s vkyh

T;kpk ;qºkoj ifj.kke >kyk- gk fodklkr

gÓkaP;k lgHkkx gksrk %

(i) ,fMlupk ifgyk O;olkbZd tujsVj

(ii) baVjuy dacðku bathu

(iii) feJ iksykn

(iv) ekslZ dksM

cjkscj mŸkj vkgs %

(A) dsoˇ (i) o (ii) cjkscj vkgsr

(B) dsoˇ (i), (ii) o (iii) cjkscj vkgsr

(C) dsoˇ (ii), (iii) o (iv) cjkscj vkgsr

(D) ojhy loZ cjkscj vkgsr
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42. Jean Baptiste Say introduced the

following idea in the context of

war :

(A) Human capital

(B) Defence as public good

(C) Deficit finance

(D) Financing wars through

taxation

43. The growth of C3I technologies

would have the following impact :

(i) The element of tactical surprise

will end

(ii) If  both sides have the C3I

capabilities technological

surprise rather than tactical

surprise would be important

(iii) Offensive power would become

important

(iv) Air power will play a dominant

role

The correct answer is :

(A) Only (i) and (ii) are correct

(B) Only (iv) is correct

(C) Only (i), (ii) and (iv) are correct

(D) All the four are correct

42. tk° ckfIrLV ls ;kauh ;qºk lanHkkZr gs fopkj

ekaMys %

(A) ekuoh HkkaMoy

(B) laj{k.k Eg.kts lok±ps fgr

(C) rqVhph foŸk O;oLFkk

(D) ;qºkpk [kpZ djka}kjs dj.ks

43. C3I ra=KkukP;k fodklkpk gk ifj.kke

gksbZy %

(i) vpkud@vlko/ki.ks gYyk gks.;kaph

ðkD;rk laisy %

(ii) nksUgh cktwadMs tj C3I ra=Kku vlsy

rj r a=Kkukrhy vpkudi.kk gk

j.kfurhrhy vpkud i.;kis{kk egRokpk

gksbZy

(iii) vkÿed ðkDrh egRokph gksbZy

(iv) gokbZ lŸkk egRokps dk;Z djhy

cjkscj mŸkj vkgs %

(A) dsoˇ (i) o (ii) cjkscj vkgsr

(B) dsoˇ (iv) cjkscj vkgs

(C) dsoˇ (i), (ii) o (iv) cjkscj vkgsr

(D) loZ pkj cjkscj vkgsr
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44. Following are the methods of

mobilisation of resources during

war :

(i) Taxation

(ii) Borrowing

(iii) Rationing

(iv) Aid

The correct answer is :

(A) Only (i) and (ii) are correct

(B) Only (i), (ii) and (iv) are correct

(C) Only (i), (ii) and (iii) are correct

(D) All the four are correct

45. ‘‘Garden Reach Workshop’’ deals

with :

(A) Ship building

(B) Tank production

(C) Missile production

(D) Aircraft production

46. New International Economic Order

was conceptualised in the following

decade :

(A) 1960s

(B) 1970s

(C) 1980s

(D) 1990s

44. ;qºkr vkfFkZd lk/ku lkeqxzh xksˇk dj.;kP;k

gÓk iºrh vkgsr %

(i) dj

(ii) dtZ dk<.ks

(iii) jsðkfuax

(iv) enr

cjkscj mŸkj vkgs %

(A) dsoˇ (i) o (ii) cjkscj vkgsr

(B) dsoˇ (i), (ii) o (iv) cjkscj vkgsr

(C) dsoˇ (i), (ii) o (iii) cjkscj vkgsr

(D) ojhy loZ cjkscj vkgsr

45. ^^xkMZu jhp odZðkk Wi** gÓkðkh lacaf/kr

vkgs %

(A) tgkt cka/k.kh

(B) j.kxkMs mRiknu

(C) {ksi.kkL= mRiknu

(D) foeku mRiknu

46. uohu tkxfrd vFkZO;oLFkk gh ladYiuk gÓk

nðkdkr iq<s vkyh %

(A) 1960 P;k nðkdkr

(B) 1970 P;k nðkdkr

(C) 1980 P;k nðkdkr

(D) 1990 P;k nðkdkr

http://www.studentbounty.com/
http://studentbounty.com/


20

AUG-16211/II

47. Which is the most predominant
energy source in India ?

(A) Oil

(B) Natural gas

(C) Nuclear

(D) Coal

48. Membership of NAFTA :

(A) Cuba, Mexico, United States

(B) Argentina, Brazil, United States

(C) Canada, Mexico, United States

(D) Chile, Mexico, United States

49. Determinant of defence expenditure
include :

(i) Strategic environment

(ii) Socio-cultural environment

(iii) Arms race

(iv) Development of science and
technology

The correct answer is :

(A) Only (i) and (ii) are correct

(B) Only (i), (ii) and (iii) are correct

(C) Only (i), (iii) and (iv) are correct

(D) All the above four are correct

50. The command, control, communi-
cation and intelligence infrastruc-
ture helps :

(i) Reconnaissance

(ii) Surveillance

(iii) Target acquisition

The correct answer is :

(A) Only (i) is correct

(B) Only (i) and (ii) are correct

(C) Only (iii) is correct

(D) All the above three are correct

47. Hkkjrkrhy lokZr egRokps mtkZ fufeZrhps
lk/ku dks.krs \
(A) rsy
(B) uSlfxZd ok;q
(C) vkf.od
(D) dksˇlk

48. NAFTA ps lnL; %
(A) D;qck] esfDldks] vesfjdk
(B) vts±fVuk] czk>hy] vesfjdk
(C) dWuMk] esfDldks] vesfjdk
(D) fpyh] esfDldks] vesfjdk

49. laj{k.k [kpkZps fu.kkZ;d ?kVd gs vkgsr %

(i) lkefjd ifjfLFkrh

(ii) lkekftd&lkaLœfrd ifjfLFkrh

(iii) ðkL= Li/kkZ

(iv) ðkkL= o ra=Kkukpk fodkl

cjkscj mŸkj vkgs %

(A) dsoˇ (i) o (ii) cjkscj vkgsr

(B) dsoˇ (i), (ii) o (iii) cjkscj vkgsr

(C) dsoˇ (i), (iii) o (iv) cjkscj vkgsr

(D) ojhy loZ cjkscj vkgsr
50. dsaÊ] fu;a=.k] lalwpu o xqIr okrkZ ;kaps ewyHkwr

fu;a=.k dsys dh gs lk/; gksrs %
(i) iwoZ igk.kh
(ii) Vsgkˇ.kh
(iii) y{kkoj ekjk

cjkscj mŸkj vkgs %

(A) dsoˇ (i) cjkscj vkgs
(B) dsoˇ (i) o (ii) cjkscj vkgsr

(C) dsoˇ (iii) cjkscj vkgs
(D) ojhy loZ cjkscj vkgsr
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